Lesson P-4

a. Find 315 · 4.  Estimate first.

1.  Estimate.  300 × 4 = 1,200
2.  Rewrite the problem in vertical format.

   315








×    4
3.  Multiply 4 times the digit in the ones column.  4 × 5 = 20
     








     2
Write the tens digit above the tens column, and the 

  
  315

ones digit in the product under the ones column.


×    4









      0      










      2
4.  Multiply 4 times the digit in the tens column.  4 × 1 = 4

  315

     Add in two tens for 6.





×    4









     60      










    2
5.  Multiply 4 times the digit in the hundreds column.

  315
     4 × 3 = 12

  





×    4










1,260      
6.  The product is 1,260.









Compare to your estimate for reasonableness.




 

For Example 1 Multiply by a Two-Digit Number
b. Find 87 · 39.  
1.  Estimate.  90 × 40 = 3,600
2.  Rewrite the problem in vertical format.


        








      6

3.  Multiply 9 times the digit in the ones column.  9 × 7 = 63

      87

     Write the tens digit above the tens column and the ones 


×   39

     digit in the product under the ones column.



       3


      







         6

4.  Multiply 9 times the tens column.  9 × 8 = 72



      87
     Add the 6 tens to get 78. 





    
 ×   39











    783

5.  Multiply the value of the digit in


      


        2
     the tens place times 7.  
30 × 7 = 210



                  87
     Write the hundreds digit above the hundreds column


×    39
     and the tens digit in the product under the tens column.


     783

      









+ 2610

6.  Multiply the value in the tens column by 30.  30 × 8 = 240 

  3,393

     Add 2 tens to get 260.  Write the 26 in hundreds place. 

7.  Find the sum of the two products.

8.  The product is 3,393.  Compare to your estimate for reasonableness.
c. Find 22 · 76.  

Step 1

Rewrite the product in vertical format.


      22










 ×   76


Step 2

Multiply each place value by the ones digit.  


     132










+ 1540

Step 3  
Multiply each place value by the tens digit.


  1,672




 
Step 4  
Find the sum of the two products.
Step 5  
The product is 1,672.
d. [Real World] CRAFTS   Tariq is helping to make bracelets for the school sale.  Each bracelet uses 16 blue beads to complete one row.  Each bracelet has three rows. If 27 bracelets need to be made, how many blue beads will he need?
Understand
Read the problem.  Write what you know.


Each bracelet uses 16 blue beads to complete one row.  There are 3 rows in each bracelet and 27 bracelets need to be made.

Plan
Pick a strategy.  One strategy is to use logical reasoning.  Find the number of blue beads needed for one complete bracelet, then multiply that by the number of bracelets that will be made.
Solve
number of beads per row× number of rows = number of beads per bracelet

number of beads per bracelet× number of bracelets = total number of beads

Use the values from the problem to solve.


16 × 3 = 48

48 × 27 = 1,296



Tariq will need 1,296 beads in all.
Check
Does the answer make sense?


Look over your solution.  Did you answer the question?
For Example 2 Divide by a One-Digit Number
e. Find 721 ÷ 7.


1.  Estimate.   700 ÷ 7 = 100


 
      








2.  Rewrite the problem in vertical format.

         7    721     
3.  Look at the first digit.  What number multiplied

    1
     by 7 is 7?  1 × 7 = 7.  Write 1 in the hundreds place      7    721
     in the quotient.

4.  Multiply.  Write the product under the dividend.









      10
5.  Subtract.  Bring down the next number in the dividend.
7    721








     -7

 6.  Since 2 < 7, there is not enough to divide. 

        2
      So put 0 in the tens place.

7.  Bring down the 1 in the dividend.



      103    









7    721



8.  What number multiplied by 7 is 21?  3


     -7



             
       Multiply.






        21
         -21

9.  Subtract.






          0
10.  The quotient is 103.  Compare to the estimate for reasonableness.
f. Find 24 ÷ 7. Show the remainder.


Step 1

Rewrite the problem in vertical format.

7   24
Step 2  
Look at the first digit in the dividend.  



Since the divisor is greater than the 



first digit, look at the first two digits.




What number multiplied by 7 is close to 24?
   3

       



Multiply.  Write the product under the dividend.    
Step 3

Subtract.



 


3 R3









     7   24


      






         -21










3

        
Step 4

There are no more digits.  Write the quotient.


24 ÷ 7 = 3 R3
Step 5

Check your answer.



7 × 3 = 21


21 + 3 = 24

g. [Real World] SPORTS
The regular season for major league baseball runs for 183 days in 2007.  How many weeks is that if there are seven days in one week?

Understand
Read the problem.  Write what you know.


The season lasts for 183 days.  There are 7 days in one week.

Plan
Pick a strategy.  One strategy is to solve a simpler problem. 
Solve

When you multiply 7 by 2, the product is 14.



When you multiply 7 by 20, the product is 140.



Subtract this from 183.   43


What number multiplied by 7 is close to 43 without going over?  6


Multiply this by 7 and subtract the product from 43.



What is left?
1

Add the factors you multiplied by 7.  Along with the remainder, this is the answer.


20 + 6 = 26



Baseball season lasts just over 26 weeks.
Check
Does the answer make sense?  Look over your solution.  Did you answer the question?
